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Answer any two of the following:  
  
  
  

1.  What is meant by Shares? Explain the different types of shares and the share 

allotment?  

gq;Ffs; vd;why; vd;d? gq;fpd; gy;NtW tiffisAk; kw;Wk; gq;F xJf;fPL 

gw;wpAk; tpsf;Ff.  

2.  What are the legal provisions regarding the redemption of preference shares? The 

summarized Balance sheet of Sterling Ltd. As on 31.12.2004 was as follows:  

Balance Sheet as on 31.12.2004  

iabilities Rs.  ssets Rs.  

Issued and paid up capital:  
10,000, 8% Redeemable  
Preference shares of Rs.100 each           10,00,000 

Sundry assets  
Cash  

34,00,000 
6,00,000 

1,00,000 Equity shares of Rs.10 each      10,00,000   

Capital reserve                                            5,00,000   

General reserve                                           2,00,000   

Profit and loss a/c                                        9,50,000   

Creditors                                                      3,50,000   

40,00,000   40,00,000 
    

The preference shares were redeemed on 31.3.2005 at a premium of 25%.  For 

this purpose, the company decided to issue 50,000 equity shares of Rs.10 each  

 



 at a premium of Rs. 4 per share payable in full on 15th  March, 2005.  Pass 

Journal entries and prepare Balance Sheet.   
  
    

Kd;Dhpikg;  gq;Ffis  kPl;gjw;fhd  rl;l  epge;jidfs;  ahit?  31.4.2004-y; 

];lhypd; ypkpnll;bd; ,Ug;Gepiyf;Fwpg;G gpd;tUkhW:  

    
ghWg;Gfs; &.  nrhj;Jf;fs; &.  

tspaplg;gl;l kw;Wk; nrYj;jg;gl;l  w;gy  4>00>000 

gq;FKjy;:  

10000> 8% kPl;G Kd;Dhpikg; gq;Ffs;  

nrhj;Jf;fs;  

nuhf;fk;  
6>00>000 

10>00>000x

t;nthd;W

k; &.100  

100000 Neh;ikg;gq;Ffs;  

  

10>00>000x

t;nthd;W

k; &.10  

  

5>00>000K

jypdf;fh

g;G  

  

2>00>000n

ghJf;fhg;

G  

  

9>50>000,

yhgel;lf; 

f/F  

  

3>50>000f

ldPe;Njhh;  
  

0>00>000  0>00>000 
    

31.3.2005-y;  Kd;Dhpikg;gq;Ffs;  25%  Kidkj;jpy;  kPl;fg;gl;ld.    ,jw;fhf 

50>0000  Neh;ikg;gq;Ffs;  xt;nthd;Wk;  &.10>  15khh;r;  2005-y;  KOtJk; 

nrYj;Jk;  tz;zk;  &.4  tPjk;  Kidkj;jpy;  ntspapl  KbT  nra;ag;gl;lJ. 

Fwpg;Ngl;Lg; gjpTfs; kw;Wk; ,Ug;Gepiyf; Fwpg;igj; jahh; nra;f.  

  
  
  

3.  Discuss  the  steps  involved  in  the  ascertainment  of  profit  or  loss  prior  to 

incorporation. Mohan Company Ltd was incorporated on 30th  June, 2004 to take 

over the business of Mr. K. Mohan as from 1st  January 2004. The financial accounts 

of the business for the year ended 31st  December, 2004 disclosed the following 

information:  

Sales:  Rs.  Rs.   

January to June  1,20,000   

July to December  1,80,000  3,00,000  

Less: Purchases:    
January to June     75,000   

July to December  1,20,000  1,95,000  



 
Gross Profit     1,05,000    

Less:  
Salaries    15,000    

  
  
  

  

Selling expenses      3,000   
Depreciation      1,500   
Director¶s remuneration         750   
Debenture interest           90   
Administrative expenses   
(Rent, Rates etc.)  

    4,500     24,840  

Profit for the year      80,160    
    

You are requested to prepare a statement apportioning the balance of profit between 

the periods prior to and after incorporation.  

$l;LUthf;fj;jpw;F Ke;ija kw;Wk; gpe;ija ,yhgk; my;yJ el;lj;ijf; 

fzf;fpLtjpy;  cs;s  gbepiyfis  tpthjpf;fTk;.  jpU.  K.  Nkhfd;  vd;gtuJ 

tzpfj;ij  [dthp  1>2004-y;  thq;fpa  Nkhfd;  epWtdk;  [_d;  30>  2004-y; 

$l;LUthf;fk; nra;ag;gl;lJ. brk;gh; 31> 2004-y; KbtilAk; Mz;bw;fhd ,Wjpf; 

fzf;Ffs;> fPo;f;fhZk; tptuq;fisj; jUfpwJ:  

Tpw;gid  &.  &.   

[dthp Kjy; [_d; tiu  1>20>000   
[_iy Kjy; brk;gh; tiu  1>80>000  3>00>000  

fop: nfhs;Kjy;    
[dthp Kjy; [_d; tiu    75>000   
[_iy Kjy; brk;gh; tiu  1>20>000  1>95>000  

nkhj;j yhgk;   1>05>000  

fop:  

rk;gsk;  
    15>000   

tpw;gird; nryTfs;        3>000   
Nja;khdk;        1>500   
,af;Feh; Cjpak;          750   
fld; gj;jpuk; kPjhd tl;b            90   

eph;thfr; nryTfs; (thlif> thp Kjypad)        4>500     24>840  

epfu yhgk;     80>160  

$l;LUthf;fj;jpw;F  Ke;ija  kw;Wk;  gpe;ija  ,yhgj;ijg;  gq;fpLk;  mwpf;if  

jahhpf;fTk;.   
  
  
  

4.  What is liquidator¶s final statement of accounts and also write a brief note on 

liquidator¶s remuneration. A company went into voluntary liquidation on which date 

preference dividend was in arrears for three years. Subscribed capital of the  



 company is 3,000, 6% preference shares of Rs.100 each fully paid up; 4,500 

equity shares of Rs.100 each, Rs.50 paid up.  

Assets  realized  Rs.267,000;  Expenses  of  liquidation  Rs.14,880;  Liquidator¶s 

remuneration  Rs.7,500  and  a  commission  of  3%  on  amount  of  capital  and 

dividend paid to preference shareholders. Total Liabilities Rs.15,000.  

Prepare Liquidator¶s final statement of accounts.  
  
  

fiyg;ghsh; ,Wjpf;fzf;F vd;why; vd;d? fiyg;ghsh; Cjpak; vt;thW  

fzf;fplg;gLfpwJ? A vd;w epWtdk; jhkhff; fiyf;fg;gl;lJ. me;j Njjpapy; 3  

tUl gq;fhjha ghf;fp Kd;Dhpikg; gq;FjhuUf;Ff; nfhLf;f Ntz;bAs;sJ. 

mjDila xg;gpa Kjy; gpd;tUkhW:  

(i)  

(ii )  
xt;nthd;Wk; &.100 Kfkjpg;Gs;s> 6% 3000 Kd;Dhpikg; gq;Ffs; 

xt;nthd;Wk; &.100 Kfkjpg;Gs;s> &.50 nrYj;jg;gl;Ls;s 4500 

rhjhuzg; gq;Ffs;  

nrhj;Jf;fs; tpw;wJ - &.2>67>000> fiyg;Gr; nryTfs; - &.14>880> fiyg;ghsh; 

Cjpak; &.7>500 kw;Wk; Kd;Dhpikg; gq;Fjhuh;fSf;Ff; nfhLf;f Ntz;ba  

gzj;jpy; 3% fopT. nkhj;jg; nghWg;Gfs; - &.15>000. fiyg;ghsh; ,Wjpf;  

fzf;ifj; jahh; nra;aTk;.  
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Answer any two of the following:  
  
  
  

1.  Explain  illegal  and  unlawful  agreement.  Distinguish  void  contract  from  void 

agreement and voidable contract.  

rl;;lj;ij kPwpa cld;gbf;if> rl;l Kuzhd xg;ge;jq;fs; ,tw;iw tpsf;Ff. 

,y;yh epiy xg;ge;jj;ij> ,y;yh epiy cld;ghL> jtph;j;jF xg;ge;jq;fspypUe;J 

NtWg;gLj;Jf.  

2.  What are Quasi Contracts? Explain various types of Quasi-contracts, according to 

Indian contract act.   

Xg;ge;jg; Nghy;Tfis tpsf;Ff. ,e;jpa xg;ge;j rl;lj;jpd; gb cs;s xg;ge;jg; 

Nghy;Tfspd; tiffisf; Fwpg;gpLf.  

3.  What  are  the  special  privileges  given  to  women  and  young  persons  under 

Factories Act? µ.  

ngz;fSf;Fk;>  ,isQh;fSf;Fk;  (young  persons)  cs;s  jdpr;  rYiffs;  

njhopyfr; rl;lj;jpy; cs;sditah?    

4.  Explain the type of benefits under ESI Act.  

ESI Act d; fPo; tUk; gytpj cjtpfis tphpthf tpsf;Ff.  
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Answer any two of the following:  

1.  State the rules for drawing a diagram. Explain briefly the different types of bar 

diagrams.  

xU  tpsf;fg;glk;  tiutjw;fhd  tpjpfis  $wTk;.  gy;tifahd  gl;il 

tpsf;fg;glq;fis tpsf;fTk;.  

2.  What is Lorenz curve? How do you draw the graph? Draw a Lorenz curve from the 

following data:  

Number of Persons  
Income (Rs.)  Group A  Group B  Group C  

10,000  
20,000  
40,000  
50,000  
80,000  

5,000  
10,000  
20,000  
25,000  
40,000  

8,000  
7,000  
5,000  
3,000  
5,000  

15,000  
6,000  
2,000  
1,000  
1,000  

 



 yhud;]; tisNfhL vd;why; vd;d? tiuglj;ij vt;thW tiutha;? fPof;fz;l 

tptuq;fspypUe;J yhud;]; tisNfhL tiuaTk;.  

  
    

egh;fspd; vz;zpf;if  

tUkhdk; (&)  

10>000  

20>000 

40>000 

50>000 

80>000  

FO A  

5000 

10>000 

20>000 

25>000 

40>000  

FO B 

00  

7>000 

5>000 

3>000 

5>000  

FO C 

5>000 

6>000 

2>000 

1>000 

1>000  

    

3.  What is Fisher¶s ideal index? Prove that it satisfies both the time reversal test and 

factor reversal test. Calculate Fisher¶s ideal index from the data given below and 

show that it satisfies time Reversal and Factor Reversal Tests.  
  
  
  

Commodity  Base year  Current Year  
Quantity  Price  Quantity  Price  

A 

B 

C 

D  

12 

15 

24 

5  

10 

7 5 

16  

15 

20 

20 

5  

12 

5 9 

14  

gp\hpd; FwpaPl;nlz; vd;why; vd;d? mJ fhykhWjy; NrhjidiaAk;> fhuzp 

khWjy;  NrhjidiaAk;  jpUg;jp  nra;fpd;wJ  vd;gjid  ep&gp.  fPNo 

nfhLf;fg;gl;Ls;s  tptuq;fspypUe;J  gp\hpd;  cj;jk  FwpaPl;nlz;izf; 

fzf;fplTk;.  mJ  fhykhw;Wr;  Nrhjid  kw;Wk;  fhuzp  khw;Wr;  Nrhjid 

Mfpatw;iw jpUg;jpg;gLj;Jtijf; fhz;gpf;f.  

    
ghUl;fs  mbg;gil Mz;L lg;G Mz;L 

msT (fpNyh) tpiy (&) msT (fpNyh) piy (&)  

A 

B  

2 

15  

0 

7  

5 

20  

12 

5  

C  

D  

24 

5  

5 

16  

20 

5  

9 

14  



4.   Define  and  explain  Time  series.  Explain  the  relationship  between  the  

components of time series.    

fhyj;njhlh;  thpirapd;  ,yf;fzk;  $wp  tpsf;Ff.  fhyj;njhlhpd; 

gFg;GfSf;fpilapyhd njhlh;ig tpsf;Ff.  
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Answer any two of the following:  
  
  
  

1.  What are the objectives and merits of circular letters? What do you mean by 

circular letters and under what occasions circular letters can be written. Write a 

circular letter to your customers intimating about the termination of services of your 

sales manager.  

Rw;wwpf;iff; fbjq;fspd; Nehf;fq;fs; kw;Wk; ed;ikfisf; $Wf. Rw;wwpf;if 

fbjq;fs; vd;why; vd;d. ve;j #o;epiyfspy;> Rw;wwpf;iff; fbjq;fs; vOjyhk;. 

jq;fspd;  tpw;gid  Nkyhshpd;  gzp  KbTf;Ff;  nfhz;L  tug;gl;lijj; 

njhptpj;J jq;fSila thbf;ifahsh;fSf;Fr; Rw;wwpf;if fbjk; xd;w vOJf.  

2.  Enumerate the different types of reports. Write briefly about each type. Draft the 

report of a traveling salesman on market conditions for the products of your firm and 

also for products of your rivals.  

gy;tifahd  mwpf;ifapd;  tiffis  tpthp.  Xt;nthU  tifiag;  gw;wpAk; 

tphpthf  tpsf;fTk;.  cq;fSila  epWtdj;jpd;  nghUs;  gw;wpa  re;ij 

epytuj;ijAk;>  cq;fs;  epWtdj;jpd;  Nghl;bahshpd;  nghUs;  gw;wpa  re;ij 

epytuj;ijAk;  gw;wp>  gaz  tpw;gidahsh;  tiuAk;  xU  mwpf;ifiaj; 

jahhpf;fTk;.  

3.  Write an essay on company secretary.  

epWkr; nrayhsiug; gw;wp xU fl;Liu tiuf.  

4.  Briefly explain the kinds of Company meetings?  

epWkf; $l;lj;jpd; tifis tphpthf tpsf;Ff.   
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Answer any two of the following:  
  
  
  

1.  Explain the important functions of a modern commercial bank. And Explain the role 

of commercial banking in developing and underdeveloped countries.  

etPd tzpf tq;fpapd; Kf;fpa gzp ahJ? tsUk;> tsuhj ehLfspy; tzpf 

tq;fpapd; gq;F vd;d?  

2.  Explain the organization and structure of the Reserve Bank of India. Describe the 

functions of the Reserve Bank of India?  

Hprh;t; tq;fpapd; mikg;igAk; fl;likg;igAk; tpthp? Hprh;t; tq;fpapd; gzpfs; 

ahit?  

3.  Explain the statutory protection available to the paying banker. When can the 

paying banker refuse to pay a cheque?  

toq;Fk;  tq;fpapd;  rl;l  ghJfhg;G  vd;d?  toq;Fk;  tq;fp  vg;nghOJ  

fhNrhiyf;F gzk; toq;f kWf;fyhk;?  

4.  Enumerate the advantages of bill discounting. Describe the bill market in India 

today.  

rPl;L fopT nra;tjpd; ed;ikfs; ahJ. ,d;iwa ,e;jpa rPl;L re;ijiag; gw;wp  

tpthp?  

 

 


